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The paper covers the formula of the single pseudoinversed operator for matrix normally solvable
operators in Hilbert spaces. The author has introduced the notion of the unilaterally pseudoin-
versed operators for matrix normally solvable equations which function in Hilbert spaces. The
paper also highlights the methods of their construction.
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�� ���� ���� 
�
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% ,���� �./
�
  *��������������0 �
��*���� �0 -��1
������� �0% 
 *����������
 ����
���
  #�
��� �,��#����� 
 �*��,���
�*�����
 ����*��
����
�
 � ���� ��
� 2��
 *�#
� ���3���3% �� �,���� �-�1
������ ��� 
��3  ���� ���� 
� ���+��� � ����
�� 4 ,����� �������%  ���
1
�
� �� �������������� �����3% �� ��+,�� *���������� ����
�� ���� ���� ���
�-������� 5��*0�,
��� ���� 
�� ����% ���*� ����
�� �� ����� ������1�
*�,�
�-������� 3 �3���3 � �,���
���3 ����
�������� -����,� ����������� ������1
�� ����� 
 ����*�� ����
��� 5� ��� �� 3 �3���3 ,����������� �����������
*�,�� ���� 
� � �,���
���� ����
�������
 -����,� ���������
  ��0 ������1
�� ����
��% �� ��� �� 3 �3���3 ���*0�,
���� 6�
� ��/��� ���� ���
�����3
����
3 *���������0 ����
� �� ����

 �������07 ��+,��� �-�������  )
��
1
�� ����� *�#
�� ���� ���� ��� ����
��% �� �� ��+,�� ����
�� ���� ���� ���
�-�������

8�.,�  ,������9�� �� *�,�� ��������
 ��� Q : Hs
1 → Hs

2− �
������
�����
������ �-������% ,���� �./
� 
# �
��*���� � -��������� � �
��� �0
-����,� ����������� Hs

1  �
��*���� � -��������� � �
��� �0 -����,� �����1
������ Hs

2 ��
� �� s− �� ����� :;<=;>&;!% ������� �-��,��3���3 � -���/�.
*��������������� ����
�� Q = {qij}∞ ∞

i=1 j=1�
�"�
�
	
 !
 #� �������� Q− : Hs

2 → Hs
1� 	
��������
���� ���������

1. QQ−Q = Q;

2. Q−QQ− = Q−
��!

���������
 ������������������ ��� � ��������	 Q.
"# ����� $'(% ��� �*�*/����1�*������ �-������ �� �-��,��3���3 �,��#��1

���� ?,����% *����,��3 ���
�
.  �
��*���� �0 -��������� �0 ����3�����
-��
# �,��
3% �,��#������� ��#��+��
3 
0  -�3��� ����� ������������0
#�������0 -�,-��������� % 
#����)����
  #�
��� ��-�3+����0 -��������� %

# ���+��� � �*�*/����1�*�����0 �-������� �,����3  �,��
�� �,
��� �����
-�� ,��*�������

*��'� �����' �+�
�
� ��"��& �,--& ���� ��
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��
 ����	
�� � �	
������� � � � ��

����������� 	
 �������� Q+ : Hs
2 → Hs

1, �	�
���
���
��� �
����
���

1. QQ+Q = Q;

2. Q+QQ+ = Q+;

3. (QQ+)∗ = QQ+ = IHs
2
− PN(Q∗);

4. (Q+Q)∗ = Q+Q = IHs
1
− PN(Q)

���

����
����� ���
	��������� � ��������� Q �� ������������� ���� � �� !	�
PN(Q) : Hs

1 → N(Q) � PN(Q∗) : Hs
2 → N(Q∗) ������������� �� ���"#����������
�

N(Q) � N(Q∗) ���������
 Q � ��� �����$����!� Q∗� ����
����
����%
�
 �
����
��� ������
 ����� Q− 	
��
��
 �����
�����
 �����	��� ���

����
��
 R(Q) = R(Q) ����
���
 ��������� ��
������

 
� �
	��������
������������ Hs

1 � �
	�������� ������������ Hs
2� Q : Hs

1 → Hs
2. �������
�

Q∗ : H∗
2 → H∗

1− ���� !����
 " ��������� Q ����
���
 ��������� ��
�����
��

 
� ���� !������ �
	�������� ������������ (Hs

2)
∗ � ���� !����� �
	��

������� ������������ (Hs
1)

∗. ���"�	�"� � �
	��������� ������������ 	
��
�
��
 #��"$
���	 ����!����� %	������� ���� !� ������������ &'� () *+*,� ��
(Hs

1)
∗ = Hs

1� (Hs
2)

∗ = Hs
2, �)�) ������������� ���� !����� �
	���������� ����

������ � �
� � ��������� �� 
�����#
��� &-,) .	�������	���� �������� Q∗

��
������ 
� ������������ Hs
2 � ������������ Hs

1)
/�" "�" ��	�������������� N(Q) ⊂ Hs

1 
 ����� R(Q) ⊂ Hs
2 ��������� Q

���"����� � 	���� ���"����� ������!����� �
	�������� ������������ ����	�
� ���� �� ����
���
 �������� Q ��������� �����
� &0� �) *12, 
 ����������
�����
������ ��������"���� PN(Q) : Hs

1 → N(Q) 
 PN(Q∗) : Hs
2 → N(Q∗)�

"������ 
���$
���� ����
��
� Hs
1 
 Hs

2 � �� ��� ��������	���� ����� &+,

Hs
1 = N(Q) ⊕ R(Q∗),

Hs
2 = N(Q∗) ⊕ R(Q),

�1�

��� N(Q) = PN(Q)H
s
1, N(Q∗) = PN(Q∗)H

s
2, R(Q) = (IHs

2
− PN(Q))H

s
2, R(Q∗) =

(IHs
1
− PN(Q))H

s
1.

3 ��	���
��� ���!����� 	
��
��4 �����
�����4 �����	��� ������
��4�
�� �	�������	���� ��������� �����
��4 ����
���4 ����������� ��
������
4

� �
	�������� ������������ Hs

1 � �
	�������� ������������ Hs
2 ����� �������

���� GI(Hs
1,H

s
2) �567689:;<6= >7?68@6@�)

.��� �� �	�����
� �����
A *� ������
�� ������������ �������������� ����
������ Q+

r 
 Q+
l � ������	��
 "�����4 ���� � �) BC �� ������
�� ��
��������


�������������
 �������� Q+)
	
 ���
�
��������� ���������
 ����� �
	�������� ������������ Hs

1 

Hs

2 
���� ���
��) D�� ����� ���� ������� ���
�� E������ 
	
 ��	�� ���
�
���
��) �������
� Ui, i = 1, 2− ���!����� ���
���	���
 �������
� {fα}, α ∈
U1 
 {ϕβ}, β ∈ U2− ��	��� �
����� ��������
�������4 ���"�����������4
��"����� � ����� ����
 "����������
� "������ ������	 ��� ���������������
���
�� ��	������������� N(Q) ⊂ Hs

1 
 N(Q∗) ⊂ Hs
2 &2� () �12,)

����� ������ ��� ! " ��#$�% &'((% ��)� &&



�� �� �� ���	�
��

��������� 	���
�	�� PN(Q) : Hs
1 → N(Q) � PN(Q∗) : Hs

1 → N(Q∗) 
������
��� 	��
�	�

PN(Q)x =
∑
α∈U1

(x, fα)fα,

���

PN(Q∗)y =
∑
β∈U2

(y, ϕβ)ϕβ.

����
��	 ���� ��	� �
�� ��	��
��	 U1 ��
����	� �	 �� ���	!	 x ∈ Hs
1 �� �	���

��� 
����	� ��
�	 "	#$$�%����	� xα = (x, fα) 	�����	 	� ��� & '
�� ��	���

��	 U1  �� ��
 
������� �	 ���
�	 ��
"


∑
α∈U1

��(�� ��
"
∑∞

α=1, �	����"��
 


����	
�) ��	��
��
 U1.
*	
"	�)"� � !��)����	�	� ��	
��
�
��� ���	� �
�"���	� �	���	
��
�
��	

�	�	�� ��	 �+,�� �++�� �	 	���
�	�� PN(Q) : Hs
1 → N(Q) � PN(Q∗) : Hs

1 → N(Q∗)
	!�
������& - �
" "
" �� ����. #������	� x ∈ N(Q) � y ∈ N(Q∗) �����
��
�	 �
���
��
 *
�
��
� ���� �	 � �� ��� 
.	� �
 �	 �	��
� ��	
��
�
�� Hs

1

� Hs
2� 
		����
�����	&
����
�	�� ���  �� ��
 	��	��	�"�	�
��� �
" "
" 	������	� ��	 P 2

N(Q) =

P ∗
N(Q) = PN(Q), P 2

N(Q∗) = P ∗
N(Q∗) = PN(Q∗)&

/	
�
��� �� �
��
��. #������	� ���)���	
��
�
�� N(Q) � N(Q∗), 
		�����

�����	� �
���%�0

X = (f1 f2 f3 . . . fα . . .),

Φ = (ϕ1 ϕ2 ϕ3, . . . ϕβ . . .).

��������� 
"
� ���� ��	�������� �
��
��. ��"�	��
�	��%	� {fα}, α ∈ U1

�
 ��"	�	��1 #������ ���"�	��
�	���%� x ∈ Hs
1 "
" ��	��������� �
���%� X

�
 ��"�	��
�	���% x 
�������� 	��
�	�

(X, x)Hs
1

= X∗ · x,

�����)�
�	� "	�	�	!	 ����� ��
"	����	�����1 ��"�	��
�	���% ��
��� α� "	��
�	����
 "	�	�	!	 �
�) 
"
� ��	� ��	��������� (fα, x)Hs

1
= f ∗

α ·x� !�� f ∗
α− ��"�	��


��	"
� ��
�
�	���	�
��
 " ��"�	��
�	��%� fα, α ∈ U1&
2	!�
� �
�	�)�� 
�	1
��
 
"
� ��	!	 ��	�������� � ��	�"�	�� ��� PN(Q) :

Hs
1 → N(Q) � PN(Q∗) : Hs

1 → N(Q∗) �	��	 �
��

�) � ����0

PN(Q)x = X · (X, x)Hs
1

= X · X∗ · x, ∀x ∈ Hs
1,

�3�

PN(Q∗)y = Φ · (Φ, y)Hs
2

= Φ · Φ∗ · y, ∀y ∈ Hs
2.

���	��	�"�	�� �3�  �� ��
 	!�
��������� 	���
�	�
�� � �
����
�� ��	�

��
�
��	Hs

1 � �� ��� 
���� ��
���	 	��	!	�
�)��. �
�"����. �	���	
��
�
��
�	 $	����
� �4�&

5 �
��
��	
�� 	� 
		��	(��� �	��	
��1 ��	��
�� U1 � U2 �� ���)���	
��
�
��
N(Q) � N(Q∗) �	��	��� ��� 
���
 0

�
��� ������ ������� ������ ����� �� � ��



���������	
��
 ����	
�� � �	
������� � � � ��

�� ���� ������	
 ������	
� U1 ���
�� ������	� ������	
� U2, |U1| < |U2|,
	� ���
�����	����	
� N(Q) ������� ��������� ����	����� �������	����	
�

N (1)(Q∗) ⊂ N(Q∗)� N(Q) ∼= N (1)(Q∗).
� ���� �	
��
 �
�
���
���
�� 	��
���� �������
���� ��������� ��
����� U1 : N(Q) → N (1)(Q∗) ���

���� ��� U1N(Q) = N (1)(Q∗), U−1
1 N (1)(Q∗) = N(Q)�

��� �������
���� �������
���� PN(1)(Q∗) : Hs
2 → Hs

2� �� �������� ��!����
��������� N(Q∗) � ��"�
� �
��
  ����
��# ��!�����������

N(Q∗) = N (1)(Q∗) ⊕ N (2)(Q∗), $%�

�!
 N (1)(Q∗) = PN(1)(Q∗)H
s
2, N (2)(Q∗) = PN(2)(Q∗)H

s
2, PN(2)(Q∗) = PN(Q∗) −

PN(1)(Q∗)− �������
���� �������
�����
&� ���� ������	
 ������	
� U1 ���
�� ������	� ������	
� U2, |U1| >

|U2|, 	� ����	���� �������	����	
� N (1)(Q) ⊂ N(Q) ������� ��������� ���
�

����	����	
� N(Q∗) : N (1)(Q) ∼= N(Q∗)�
� ���� �	
��
 �
�
���
���
�� 	��
���� �������
���� ��������� ��
����� U2 : N (1)(Q) → N(Q∗) ���

���� ��� U2N
(1)(Q) = N(Q∗), U−1

2 N(Q∗) = N (1)(Q)�
��� �������
���� �������
���� PN(1)(Q) : Hs

1 → Hs
1� �� �������� ��!����

��������� N(Q) � ��"�
� �
��
  ����
��# ��!�����������

N(Q) = N (1)(Q) ⊕ N2(L), $'�

�!
 N (1)(Q) = PN(1)(Q)H
s
1, N2(L) = PN2(L)H

s
1, PN2(L) = PN(Q) −PN(1)(Q)− �����

���
���� �������
�����
(� ���� ������	� ������	
 U1 � U2 ��
�����	� |U1| = |U2|, 	� ���
�����	����	
�

N(Q) ������� ��������� ���
�����	����	
� N(Q∗)� N(Q) ∼= N(Q∗)�
)��!� �
�
���

� 	��
���� �������
���� ��������� ��
����� U3 : N(Q) →

N(Q∗) ������ ��� U3N(Q) = N(Q∗), U−1
3 N(Q∗) = N(Q)�

*�� ����� ���+��
��" ��
������� Ui, i = 1, 2, 3 �� ������������ Hs
1 �
�
 

PN(1)(Q∗) : Hs
1 → N (1)(Q∗) ⊆ N(Q∗)� � �
�
 PN(1)(Q) : Hs

2 → N (1)(Q) ⊆ N(Q) ,

���+��
��" ��
������� U−1
i , i = 1, 2, 3 �� ������������ Hs

2. � ��
�-
� �	
��

N (1)(Q∗) ≡ N(Q∗)� N (1)(Q) ≡ N(Q) � ������
 PN(1)(Q∗) ≡ PN(Q∗)� � PN(1)(Q) ≡
PN(Q)�

.� /���
	��� ���	������� 0�&� 1� �'&� �'(2� �������� �������
���
 ��
���
���� PN(1)(Q∗) : Hs

1 → N (1)(Q∗) ⊆ N(Q∗), PN(1)(Q) : Hs
2 → N (1)(Q) ⊆ N(Q)

PN(1)(Q∗)x = Φ X
∗
x, ∀x ∈ Hs

1,

PN(1)(Q)y = X Φ
∗
y, ∀y ∈ Hs

2,

�!
 �����3� X ������	
�� � �	
�
���� �����3� X� ������	"���# ����������
�������� �� �� ��!������������ N (1)(Q), � �����3� Φ− � /
��3����	�� ���
���3� Φ� ������	"���# ����������������� �� �� ��!������������ N (1)(Q∗).

*�
����� PN(1)(Q∗) : Hs
1 → N1(Q

∗) "�	"
��" ���+��
��
� �� ��
 ����������
��� Hs

1 ��
������� ��
�
���	"��
�� � ����/� � N(Q) → N1(Q
∗) ⊂ N(Q∗)�

����� ������ ���� �! ��"#�$ %&''$ ��(� %%



�� �� �� ���	�
��

� �������� PN(1)(Q) : Hs
2 → N (1)(Q) ⊂ N(Q)− ����	��
	�� ��� �
���
��� 
�

�������
���� Hs
2�

����� �� ����� Q ∈ GI(Hs
1,H

s
2). ���	
 ���

��
 Q = Q + PN1(Q∗) �


��	�
���

����� R(Q) ����� ��

�������� ��

����

Q
−1

l,r =

⎧⎪⎨
⎪⎩

(Q + PN(1)(Q∗))
−1

l
− ������ ���� |U1| < |U2|,

(Q + PN(Q∗))
−1

r
− �

���� ���� |U1| > |U2|.

����� ��	 �	�����
���� ��

���� ���

��
�� Q
−1

l0,r0
�
	
���� ��
�����

Q
−1

l0,r0
=

⎧⎪⎨
⎪⎩

Q
−1

l (IHs
2
− P̃N(2)(Q∗))− ������ ���� |U1| < |U2|,

(IHs
1
− P̃N(2)(Q))Q

−1

r − �

���� ���� |U1| > |U2|,

�	� P̃N(2)(Q) : Hs
1 → N (2)(Q) � P̃N(2)(Q∗) : Hs

2 → N (2)(Q∗)− �
���������� ��������

�����
��� ��

�������� ����� �
�����
� 

!��
�
�������� ����� ��� ��������

���	 |U1| > |U2|.
�������� ��� �������� Q = Q + PN(Q∗) 	���� ����
	��

�� ������ �
���

�
��� ��������� N(Q) �����
���� � Hs
1� �� � �	�� ����
���� ��� 	 ����
	��
�


���	 ������������� PN(2)(Q) ����������
���� N(Q) �����
���� � Hs
1�  ��	�

�
��!��� ��� ����!��������� ��"�������
	� ������� �
���
��� ��������� 
��
�
#��	�� 	 ��������
� ����!��� ��� $%&'

R(Q) = R(Q + PN1(Q∗)) ≡ Hs
2

�
��������� |U1| > |U2|, �� 
�����������
����N(Q∗) 	!����(
� ����������
��

��� N (1)(Q) ⊂ N(Q) 	 PN1(Q∗) ≡ PN(Q∗) : Hs
1 → N(Q∗)� ) ��� ��� ����������
��

��� R(Q) 	 N(Q∗) �!�	�
� �����
���� � �	��
������� �������
���� Hs
2� ��

�� ��������
	* ���������� Q, PN(Q∗) 	 	! ����
���
	� �+� ��� ���	!����
���
,����
�� x ∈ Hs

1, x = x1 + x2 	 (x1, x2) = 0 	����'

Qx = Qx + PN(Q∗)x.

-� Qx = x1 ∈ R(Q), PN(Q∗)x = x2 ∈ N(Q∗). .����������
�� R(Q) ≡ Hs
2.

 ��	� �
��!��� �������� Q + PN1(Q∗) 	���� ������ �
���
���
��������� �������� Q ���"�������� �!�	�
� ��
�!
��
�� ����������	� ����

����
���� Hs
1 
 N (2)(Q) 
� �������
���� Hs

2 = R(Q)� �� ������ �
���
�� ����

����� Q
−1

r 
� �������
���� Hs
2 � �	�� ������� /�
�#� $01& ����
	��
�

2!����
� $%&� ��� �
"	� �	� �����# �
���
�# ���������� ��������������

�����*"	� �
��!��' Q
−1

r0
= PN(Q)Q

−1
, ��� PN(Q)− 
�������� ����� ��������


� 
�����������
���� ��������� Q. 3�� ������� 	! ���� ���	� ��������� �
���

���� �������� IHs
1
− P̃N(2)(Q)� ���� N(IHs

1
− P̃N(2)(Q)) = N(Q)� !
��	� �
"�� �����

������
	� ����# �
���
�# ���������� ���
� !��	���� � �	��

Q
−1

r0
= (IHs

1
− P̃N(2)(Q))Q

−1

r .

�
��� ������ ������� ������ ����� �� � ��



���������	
��
 ����	
�� � �	
������� � � � ��

� ����� ��	� 
���� 
���
��� ����� 
�������� � ��
����������� �����
�� �����
� �����

�� ��!�� " 
�#	� N(Q) ������$�� 
�	
����������! N (1)(Q∗) ⊂ N(Q∗),
����� 	�
�������� �����#�����

%���� 	�
������
�� ������ 	
���� 	���
���
����� �	�
���
��

&������� �'� ���" 
���	��������� �
������ ���������!�� ����� ��� ��

��(�	��#� Qx = y � ��
� �����#� Q∗f = g !��������� )	��
� 
��	�� � ��*
	�������� �����!� ����� 	����#���� � 
�����+ �����( �
��������� ���*
����������" ���� ���������� �������� �
������ Q− !	�������� �� !����� �
�,-" �� �� �!	�� 	����� ��.���� x = Q−y ���������!+��� ����! ��� �
�
����
� ��(�	��#� !������� " � ���� 	� ���������*�������#� �
������� Q−

��
��� +�� !����� �" '" /" �� 	����#���� �����!� ����� ��� �
� ����
�
��
� �����#� !������� � � �� �� � 0��� ���	�� ���	!+��� �
��	����� �

�	
�
������ �� �������� Q+
r : Hs

2 → Hs
1� 	
��������
���� 	�����
�

1. QQ+
r Q = Q,

2. Q+
r QQ+

r = Q+
r ,

3. (QQ+
r )∗ = QQ+

r = IHs
2
− PN(Q∗)

123

���������
 ������ ����
��������� ���������� � ���������	 ��������	 Q ∈
GI(Hs

1,H
s
2)�

�	
�
������ �� �������� Q+
l : Hs

2 → Hs
1� 	
��������
���� 	�����
�

1. QQ+
l Q = Q,

2. Q+
l QQ+

l = Q+
l ,

3. (Q+
l Q)∗ = Q+

l Q = IHs
1
− PN(Q),

143

���������
 ����� ����
��������� ���������� � ���������	 ��������	 Q ∈
GI(Hs

1,H
s
2)�

5����������" ��� �
������"  �� +���� � ����� � 
����� 
���	���������
�	����������" �!	�� 
���	��������� � ������ 6!��,7����!���

8�����!
9�� �	���������� 
���	��������( �
�������� 	�+� ���	!+��� ��*
������

���
��� �� �	��� Q ∈ GI(Hs
1,H

s
2). ���
� ��������

Q+
r = Q

−1

l0,r0
(IHs

2
− PN(Q∗)) =

⎧⎪⎨
⎪⎩

Q
−1

l (IHs
2
− PN(Q∗)), ���� |U1| < |U2|,

Q
−1

r (IHs
2
− PN(Q∗)), ���� |U1| > |U2|

1��3


��
���
 ������������ ������ ����
��������� � ���������	 ��������	 Q�

���������	
���� :�
�+����� � 
�����
� ��
������ ������� 123� 7!���
	� �
��	��������� |U1| > |U2|, ���� 
�	
����������� N (1)(Q) ⊂ N(Q) ������*
$�� �!��*
����������! N(Q∗). ;�� ������" ��� �!�����!�� 
����� ��������

�
������ Q
−1

r0
.

����� ������ ��� ! " ��#$�% &'((% ��)� &&



�� �� �� ���	�
��

������� ���	
��� 	
����
��
 �	����	� ��

QQ+
r = QQ

−1

r (IHs
2
− PN(Q∗)) = (IHs

2
− PN(Q∗))(IHs

2
− PN(Q∗)) =

= IHs
2
− PN(Q∗) − PN(Q∗) + PN(Q∗)PN(Q∗) =

= IHs
2
− PN(Q∗) = (IHs

2
− PN(Q∗))

∗ = (QQ+
r )∗,

��������� PN(Q∗)PN(Q∗) = PN(Q∗), ��
 PN(Q∗) : Hs
1 → N(Q∗)− �
�����
� �������

�
��
� ����� ���
�����
���

 ���	
��� 	
����
��
 �	����	 � � � �� ����

QQ+
r Q = (IHs

2
− PN(Q∗))Q = Q − PN(Q∗)Q = Q,

��������� PN(Q∗)Q = 0.

Q+
r QQ+

r = Q+
r (IHs

2
− PN(Q∗)) = Q+

r − Q
−1

r0
(IHs

2
− PN(Q∗))PN(Q∗) =

= Q+
r − Q

−1

r0
(PN(Q∗) − PN(Q∗)) = Q+

r ,

��� ��� P 2
N(Q∗) = PN(Q∗)�

 
��� ���	
����! ��� ����	�
 " �� ��� �
 	
����#
��#� �
���	��
����!

Q+
r Q = Q

−1

r0
(IHs

2
− PN(Q∗))Q = Q

−1

r0
Q = IHs

1
− PN(Q),

��� ���Q
−1

r Q = IHs
1
−PN(Q), ��
 PN(Q∗) : Hs

1 → N(Q)− �
�����
� �������
��
�
����� ���
���� $%&�

������� �� ����� Q ∈ GI(Hs
1,H

s
2)� ��	
� ��
�����

Q+
l = (IHs

1
− PN(Q)) Q

−1

l0,r0
=

⎧⎪⎨
⎪⎩

(IHs
1
− PN(Q)) Q

−1

l0
, 
��� |U1| < |U2|,

(IHs
1
− PN(Q)) Q

−1

r0
, 
��� |U1| > |U2|

����

����
��� �	�����
���� �
��� ��
�
��������� � ���������� ��
������ Q�

�������
����	� �
��
�
 � ���������� �������
����	� �
��
�
 ��
	� 
���
��������� ���������

'
��
�
 �! � ���	��#(� ��
���)��� *������ ��# ��
	���+������� ��
���
���� � ��������� ����
,����� 	 ����+
���	�� ����������	
�

������� �� ��
�����

Q+ =

⎧⎨
⎩

Q+
l (IHs

2
− PN(Q∗)), 
��� |U1| < |U2|,

(IHs
1
− PN(Q)) Q+

r , 
��� |U1| > |U2|
����

����
��� 

�����
���� �	�����
���� ��
�
��������� � ���
����� �	�����

�
����� ���������� ��
������ Q ∈ GI(Hs
1,H

s
2)�

���������	
���� -��	
��� 	
����
��
 �	����	 ���! �����

 ���
�
�#�
(� ��
	���+����
� ��
������ ��# ���
�
�
������ ���������� ������! �����
|U1| < |U2|, ��
� ���������������	�N(Q) ������*�� �������������	�N (1)(Q∗) ⊂
N(Q∗). .�� ������! ��� 	 ���� �
��
 � ��/
��	�
� �
	
� �+����
� ��
�����
Q

−1

l0
.

�
��� ������ ������� ������ ����� �� � ��



���������	
��
 ����	
�� � �	
������� � � � ��

��� ���

Q(IHs
1
− PN(Q)) = Q; (IHs

2
− PN(Q∗))Q = Q; PN(Q∗)Q = 0,

�� ����� 	�
����
�
 ������
����� ��	
�� �
����
�

QQ+Q = Q(IHs
1
− PN(Q))Q

−1

l0
(IHs

2
− PN(Q∗))Q =

= QQ
−1

l0
Q = (IHs

2
− PN(Q∗))Q = Q,

��� PN(Q∗) : Hs
2 → N(Q∗)− ��	��������� ����� �	�����	�

��������� QQ
−1

l0
= IHs

2
− PN(Q∗)
 � PN(Q∗)PN(Q∗) = PN(Q∗)
 ��

Q+QQ+ = Q+Q(IHs
1
− PN(Q))Q

−1

l0
(IHs

2
− PN(Q∗)) =

= Q+QQ
−1

l0
(IHs

2
− PN(Q∗)) = Q+(IHs

2
− PN(Q∗))(IHs

2
− PN(Q∗)) =

= Q+(IHs
2
− PN(Q∗) − PN(Q∗) + PN(Q∗)) = Q+.

�	�
�	�� 
��������� �
����
� ��

QQ+ = Q(IHs
1
− PN(Q))Q

−1
l0

(IHs
2
− PN(Q∗)) =

= QQ −1
l0

(IHs
2
− PN(Q∗)) = (IHs

2
− PN(Q∗))(IHs

2
− PN(Q∗)) =

= IHs
2
− PN(Q∗) = (QQ+)∗.

� 
 ���������� �	�
�	�� �
����
� ��

Q+Q = Q+
l (IHs

1
− PN(Q∗))Q = Q+

l Q = IHs
1
− PN(Q) = (Q+Q)∗,

��� ��� Q+
l − ��
�� ���
��� 	����� ���	���	�

!�" �����" N(Q) ⊃ N (1)(Q) ∼= N(Q∗) ������������
� �	�
�����" �������#

����

���	��� ���������

��������� �	 ���� Q− : Hs
2 → Hs

1− ����	�
�� �
�
�������

�	��� ����

�	�
� ������	��
����� �����	��� ���� 	�� ��������� ����	
����� ������
�� ��� ��!� 	��
��� "� ����� ������	��  	� ���
�	�


Q+ = (IHs
1
− PN(Q))Q

−(IHs
2
− PN(Q∗))


���	 �����	������ �������

�	��� ���
�	�
�� � ���
�	�
� Q ∈ GI(Hs
1,H

s
2)#

$��� ����#�	���	����
� N(Q) � N(Q∗) �����	%��
 �� ��" ����	����" ��	�#

��������� ���
��� 	������ ���	������ ���	���	� Q+ � ��������� ��	������#

���� ���	������ ���	���	� Q : Hs
1 → Hs

2 ��&�� �	������� ��������� �	�#

'���	��

��������� N(Q) �����	%�� N(Q)
 �� X = X
 � Φ = Φ. �����

PN(Q∗)x = Φ(X, x)Hs
1

= Φ · X∗ · x, PN(Q∗) : Hs
1 → N(Q∗);

����� ������ ��� ! " ��#$�% &'((% ��)� &&



�� �� �� ���	�
��

PN(Q)y = X(Φ, y)Hs
2

= X · Φ∗ · y, PN(Q) : Hs
2 → N(Q).

�������� Q + PN(Q∗) ��	
����� 
� ���
����
��� Hs
1 �� �
� ���
����
��� Hs

2


 �� ������� ������ 
���� �����
�����	 �������	 (Q + PN(Q∗))
−1�

������� �� ����� ����	
��
 �������� Q ∈ GI(Hs
1 → Hs

2) 	 N(Q) 	���

������ N(Q∗)� ����� �� ��������������� R(Q) ����	
��
 ��������

Q+ = (Q + PN(Q∗))
−1 − PN(Q)

����� ��	��������� �����	
����� �������������� � ��������� Q�

����������
��� ������� � ������
��� ����������
��� ������� ��
��� 
���
��
� 
� ������� � 
������
���� ����� ���
� ��! 
����!" �����

����
���	 �������� Q !��!��
! 
���
���! �����" Q : Hs → Hs�
������� 	� ����� ����	
��
 �������� Q ∈ GI(Hs → Hs) �������� ���

������������� ����� �� ��������������� R(Q) ����	
��
 ��������

Q+ = (Q + PN(Q))
−1 − PN(Q) #$�%

����� ��	��������� �����	
����� �������������� � ��������� Q�

���������	
���� &�
������ ����
���	 �������� ' 
���
���! ����	"
�� N(Q) = N(Q∗)" X = Φ 
" ��� 
���
��
�" PN(Q∗) = PN(Q)" PN(Q) = PN(Q) =
PN(Q∗). ��
(�� 
������ ����� ���
� ������� )�

	� 
������

*�

����
� ��
�����
� ����
������� �
������������ 
 �
�������������
���������� � ��������� Q, ��	
���(+��� 
� ����
���� ���
����
��� R3 � 
�,
����������� �
��������� ���
����
��� l2, ������	 � ��������� �
�

��������
���

� ����
����!��
! (∞× 3)− �����	 ����
-�	

Q =

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1
2

0 1
2

0 0 0
1
4

0 1
4

0 0 0
1
8

0 1
8

0 0 0
���
���
���

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

.

�������� Q : R3 → l2 �����
���" ��
������

∞∑
i=1

3∑
j=1

(qij)
2 ≤ 2.

&��
����
��� R3 
 l2" � ������� ��	
����� �����
�����	 �������� Q �
��,
�������" ��.���� �� �� ��
���
�� �����
������ ����	 Q+

l , �����	 Q+
r , �
��,

���������� 
 �
�����������	 Q+ ��������� � ��������� Q : R3 → l2.
&� �������� #�% ��
���
� ������������� PN(Q) : R3 → N(Q) 
 PN(Q∗) :

l2 → N(Q∗) :

PN(Q) =

⎛
⎝

1
2

0 −1
2

0 1 0
−1

2
0 1

2

⎞
⎠ ,

�
��� ������ ������� ������ ����� ���� ��



���������	
��
 ����	
�� � �	
������� � � � ��

PN(Q∗) =

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎝

1
4

0 −3
8

0 − 3
16

0 . . .
0 1 0 0 0 0 . . .

−3
8

0 −13
16

0 − 3
32

0 . . .
0 0 0 1 0 0 . . .

− 3
16

0 − 3
32

0 −61
64

0 . . .
0 0 0 0 0 1 . . .

. . . . . . . . . . . . . . . . . . . . .

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎠

.

����� ����	��
 ��
������
��� IR3 − PN(Q) : R3 → R(Q∗) � Il2 − PN(Q∗) :
l2 → R(Q) :

IR3 − PN(Q) =

⎛
⎝

1
2

0 1
2

0 0 0
1
2

0 1
2

⎞
⎠

Il2 − PN(Q∗) =

⎛
⎜⎜⎜⎜⎜⎜⎝

3
4

0 3
8

0 3
16

0 . . .
0 0 0 0 0 0 . . .
3
8

0 3
16

0 3
32

0 . . .
0 0 0 0 0 0 . . .
3
16

0 3
32

0 3
64

0 . . .
. . . . . . . . . . . . . . . . . . . . .

⎞
⎟⎟⎟⎟⎟⎟⎠

.

��	������ 
����	
� 
����	
�� U1 
����� 
����	
� 
����	
�� U1, 
� ��

��

� � 	���	
���
 ����� ����
��� �����
�� Q
−1

l .

����
 �� ����� ����
��� �����
���� Q
−1

l � �����
��� Q ����
 �����
��

Q
−1

l =

⎛
⎝ −1 0 2 0 1 0 −2 0 1 0 −2 . . .

0 1 0 1 −1 0 2 0 −1 0 2 . . .
1 0 2 0 −8 0 16 0 −32 0 64 . . .

⎞
⎠ .

����� ��	������ �
��
 
�	
� �����	
�� !"# 
� P̃N(2)(Q∗) = P̃N(Q∗) − P̃N(1)(Q∗)

� ���� �� ��	�� �����
���� IHs
2
− P̃N(2)(Q∗) ����
 �
�
� ���$

IHs
2
− P̃N(2)(Q∗) = IH2 − PN(Q∗) + PN(1)(Q∗) =

=

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0 0 . . .
0 1 0 0 0 . . .
0 0 1 0 0 . . .
0 0 0 0 0 . . .
0 0 1

2
0 0 . . .

0 0 0 0 0 . . .
0 0 1

4
0 0 . . .

0 0 0 0 0 . . .
. . . . . . . . . . . . . . . . . .

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

.

����� 	����% ��

� � ����� ��� ������ ����
���� �����
��� Q
−1

l0
�
��	�&


����� �����
��� P̃N(2)(Q∗) ����
$

����� ������ ��� ! " ��#$�% &'��% ��(� &&



�� �� �� ���	�
��

Q
−1

l0
= Q

−1

l (IHs
2
− P̃N(2)(Q∗)) =

=

⎛
⎝ −1 0 2 0 0 0 0 . . .

0 1 0 0 0 0 0 . . .
1 0 2 0 0 0 0 . . .

⎞
⎠ .

������ ���	�
��
 �	����� ���� ��	���� �� �	����� ����� �����		�������
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